Grade 9 Math Unit 1 Test

Name: Total: /30

Place the answer in the blank to the left. [5 marks]

o

I 1, What is /ﬂ ?
121

O '2‘-' 2. Calculate the square root 030.0576 .
E T ] —
8 l 3. Which number has a square root o(%ﬁ ,) - %

Answers may vary “
I,‘?‘ 5 4. Give an example of a number that has a square root betweerll 5\an<{1 AB

_g_z_'L 5. What is the square O(Z% 4'\5 # be‘m«n Iéq and IQG

Constructed Response: Show all your steps for full marks.

6. Estlmate usmg benchmarks. [2]
J3L 5 1} o |34 - &
oy = |
Since /36 .
[EX u
7. Estimate v 0.5 without using technology. (Using benchmarks, number line, etc...) [3]

\los
Vou- 0? wl 64=0.%€

A0° ,:%50 ‘ o

: 0.¥®
oao ‘650 0.3



8. Is % a perfect square? Explain why or wh¢ not.

member o Veo\oce[zbmchoﬂsl.

35:a5 _ |
50:35 Q
d5

5 isnola perfect square  because even When yov

9. A square garden has an area of 5729 m?2. What is the perimeter of the garden?  [2] ”Sf\c (qwk
Side length=TArea = V5.29= 4.3 2. 3m 2 L
5% Q-
Pevimeter = Uxa.3
= Q. am
10. The area of each cube face is 1 cm?.
Bottom block front
A. What is the total surface area of the object above? [2]
( 6 xHof cubes)- (2% #of overlaps)
2(Gx6) - (2%3)
=36-10
= ¢ \ma
B. How does the total area change if you remove the bottom block? [1]
(6 X5>-(QX‘1\ The oreo dect easeS kg "\cmZ
z 30- 2

= 33cm?



11. “Reid’s Robotics” produces Thingy-ma-jiggys. Each Thingy-ma-jiggy gets spray painted all
over. What is the total surface area that is spray painted? [6 marks]

d.: 10 cm r- 5
<>

Surface Area of a Cylinder = 2mr? + 2nirh

[2)&\4 X 51] t DKS.NXS%WT_\ h:zOch

- I‘S'—} t %’-}68 25 cm =\2.9
- B33 . ¥ ()Vtv\ap'- a['“"i)
23 (34Y)

SA Botiom Cylinder =153

Elxs.HxD.sIl t (ng_\q x11.5 xzo__]

- 4%1.25 + \536
- 25881.29

7582533125515 -\57




12. Sally is building a skateboard ramp. She is going to paint it blue.

12.5 feet
13 feet
L feet
11 feet
12 feet

A. If she does not paint the bottom, what is the total surface area to be painted?

. _ lg . \12%9 _
Top: 12.5x\1 =2132.5 F18: 8 (4F)= 0
Left: Sxn = 35 Topt W x1? =143

WS I3« 8) = 125 203
SIS

To 0= 305 +203= HNH’

B. If one can of paint covers 50 ft2, how many cans of paint will she need? [1]

520, = 50=\04| 5 Ghe needs |l cang
of [P0 nt




